R2S™ Nexus

Next Generation Knowledge Economy

G. David Boswell | Chronicles of BO§ZiK Inc.™

The 21st Century

—

(G DEFpuiTons & LDedtillies

) O SQ CATO a\;\;\kéj W\:S&_b &‘\3,/5

L) I S O &
A
son Qs 9}_\> = cosec & = \%\@
by ~ oc & °pb
sl = ody & Gec & = \A,g‘?
\AD\E O\J\)
bord = o & ot = 24
Cecg ~ cobd OH}
INVERSE S Recprocnt
5 = Sl & X = (Su/‘uélj(
(93 QJ‘V)')(_ = gt—&
Gw__ag\
P (269 /\/\
2 = '\/CQS&L
) Lé 6: ~ S\%&j
) ¢ \
oC
AR ]
P we o
%MLQ_ : %‘_V‘_& O~ \A\/\\XK (,wc(&
o5 G
(ovd & cosd
suA &
Tl ines
A P%WAgd\l‘CW\S
L. Si\f\z& y Los @& = 1
R L R R 7.
3 \ v Cod Q& —  Cosec L
. C‘J\A/\Pow Avx@l@ .1
L S U\i%> = s AR oA ant
). ws(At%> = cosA 0s®R T osmAan®
5o b (A = tenA 1 tan

1% tomd fon®

C« DOLAYO\& Avx )e, T‘I_ s

R Svm 2A = 2 s/l cos A
2 2
2. 006 20 = ws A — < A
= D wstA - 1
= I — 2antA
A
.. lramzj\ _ 2} o ;
[ = o /A

G. David Boswell | BO§ZiK Inc.™ MSE Page 1 of 25



R2S™ Exodus | Next Generation Knowledge Economy

Prove the following identities:

5.1 sinAtanA+cosA=secA
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(cos A+ sinA)2 +(cosA— sinA)2 =2
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T.30 Simplify the following.

(i) 2sin36cos360
(iii) cos?30 + sin?36

(v) sin(@ —a)cosa + cos(0 —a)sinc

sin 260
2sinf

(vii)

W ecall: %{\n@w@ = WA s £ CsA Sun ©
Do A= o & L - o

T Ar :@-o(>+o<
= B

Sy (@QOQCDSO& t C/OS(&—D(>%\\;\D(

- S\\?\[:(&~o<> + o(]

N =

G. David Boswell | BO§ZiK Inc.™ MSE Page 3



| Next Generation Knowledge Economy

(10 5{\/3 2.8~ ,Z%W‘s/@/cos@

2 A0 7z %y‘/&
= s @ e

(i) cos?360 —sin? 30 Ve "
(iv) 1—25in2(g) = (o3 e

(vi) 3sinfcosO

(viii) cos20 —2cos?0
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T.24 Solve the following equations for 0° < x < 360°.

(i) cosecx=1 (ii) secx=2 (iii) cotx=4

(iv) secx=-3 (v) cotx=-1 (vi) cosecx=-2
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